
PHONE: (803) 796-9502

BBC BROWN BOVERI, INC.

WEST COLUMBIA, SC 29171-4659

CHANGE DESCRIPTION

PLOT SCALE: DWG. SCALE:( )E 1=1 1 A1441402

GEN. UPDATE; ITEM#25 ADDED;

A

C

B

D

F

E

18 17 38 2

Ø1.030 [26.16]

2.756 [70.00]

STROKE

9

REF.

5.976 [151.79]

REF.

H

G

8 7

1

6 247

REF.
16.513 [419.43]

4

511 12

1

REFERENCE SOURCE:

1

P.O. BOX 4659

3

SYM

167 OVERLAND DRIVE

4 24232221

-.003
-.001Ø1.000     [25.4]

1.500 [38.11]

11

(7.334 [186.28])

STROKE

2.756 [70.00]

1310 14

0.P.

1.375 [34.94]
O.P. - P.T. MAX. - 1/2 O.T.

6 5 4

1619 20

3

VARIAN NCR 925 OR 936

Du PONT CEC 24-120B

VEECO MS-9, MS-90 OR MS-18

ALCATEL ASM-11OTCL

1. THIS IS A UHV ASSEMBLY, KEEP THE

2. DEVICE SHALL BE LEAK TESTED

3. ALL DIMENSIONS WITH    ARE MILLIMETERS

  USING A MASS SPECTROMETER WITH

OF 2X 10 -10 STANDARD CC/SEC PER

UHV PARTS CLEAN DURING ASSEMBLY

DETECTOR IS SENSED WITHIN 1 MIN.

SENSITIVITY SHALL BE PERFORMED JUST
CALIBRATION OF THE LEAK DETECTOR

FINAL TEST WILL CONSIST OF SURROUNDING
THE CHAMBER (BAGGING) WITH HELIUM. THE
CHAMBER WILL BE REJECTED IF A 2% DEFLECTION
IN THE MOST SENSITIVE RANGE OF THE LEAK

MINIMUM SENSITIVITY FOR HELIUM

LEAK METER DIVISION, SUCH AS:

AND WRAP UP FOR UHV PACKING

THIS DRAWING IS THE PROPERTY OF

SIZE

ARGONNE NATIONAL LABORATORY

ADVANCED PHOTON SOURCE

A1441402

P4105090103-830000-02

  LIGHT LOAD PNEUMATIC
  70 mm - 8" LINEAR

ACTUATOR ASSEMBLY

1:1

1 1 E

.03

.01

.005

.25

125

   SEE PARTS LIST

J.GOGOL 11/2/93

J.CHANG 3/29/94

J.GOGOL 3/29/94

J.CHANG 3/29/94

D.SHU 3/29/94

T.M.KUZAY 4/1/94

_ _

A3 LIMIT SWITCH & INTERLOCK MOUNT WELDM.

A3 BELLOW & FLANGE WELDMENT ASSEMBLY

#8-32 UNC x 1-1/4 LG SOC HD SCREW

LIMIT SWITCH ENCLOSURE (MICRO SWITCH)

3/8-16 UNC x 3/4" LG HHCS (DRILL HD)

#5-40 UNC x 1/8 LG SOC. SET SCREW

#6-32 UNC x 3/4" LG SHCS (DRILL HD)

5/16-18 UNC x 7/8" LG 12-PT (DRILL HD)

4. ALL DRILLED HEAD SCREWS SHALL BE

UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES

ANGULAR

P4105090103-830200

P4105090103-830003

P4105090103-830002

P4105090103-810001

P4105090103-830100
DWG/PART NUMBER

BZ-2RQ24-A2

TYPE BS

–   °

BREAK SHARP EDGES .03 MAX.

ACCORDANCE WITH LATEST ANSI B46.1

ACCORDANCE WITH LATEST ANSI Y14.5

8

CHKD

J.C.J.G.

REVISIONS

BY

7

6

5

4

1

1

DECIMALS

ITEM

2

1

3

TOLERANCES

.X    –

.XX   –

.XXX  –

SURFACE ROUGHNESS

SURFACE TEXTURE TO BE IN

REMOVE ALL BURRS AND

DATE

2

DIMENSIONING & TOLERANCING IN

DO NOT SCALE DRAWING

8/31/94

1

1

3.00 [76.2]

1

21

24

23

22

18

15

16

17

20

191

14

13

12

11

10

3PA1

9

1

#8-32 UNC x 3/4" LG SOC HD SCREW

A3 SWITCH POSITION CLAMP WELDMENT

5/16 LOCK WASHER

A3 ROD CLAMP

A3 70 mm ACTUATOR SUB-ASSEMBLY

GP LEADER

PROJECT MGR.

APPROVED/RELEASED

CHIEF DESIGN ENGINEER

NOMENCLATURE OR DESCRIPTION

G

A
R

G
O

N
N

E
NATIONAL LABORA

T
O

R
Y

O F C H IC

A
O

YTISRE

VI
N

U

LOG NUMBER

DRAWN BY

CHECKED BY

DESIGNER

RESPONSIBLE ENGINEER

DATE

MATERIAL

DATE TITLE

A3

SHEET

SCALE

OF

PARTS LIST

#8-32 UNC x 5/8" LG HEX HD SCREW

#8-32 UNC HEX NUT

#8 LOCK WASHER

LIMIT SWITCH (MICRO SWITCH)

INTERLOCK - 3/8" WITHDRAW POSITION

   WIRED TO LOCK IN PLACE.

3/8 PLAIN WASHER

#6-32 UNC x 1.50 LG. HEX HD SCR.

5/16 PLAIN WASHER TYPE B (R)

5/16-24 UNF HEX. JAM NUT

5/16-24 UNF HEX. NUT

 [ ]

WITH ALUMINUM FOIL.

PRIOR TO TESTING.

NOTES:

(.750 [19.05])

2SST(SILVER PLTD)

SST(SILVER PLTD)

SST 304

SST

SST 304

SST 304

MATERIAL / SPEC

DRAWING NUMBER

1

4

4

1

1

1

1

1

QTY

A

SST(SILVER PLTD)

SST(SILVER PLTD)

SST

SST

SST

SST

SST

SST

SST

SST

SST

ALUMINUM

SST

C

8

8

4

4

2

2

2

1

2

8

4

4

2

4

6
B

D

F

E

2

H

G

1

2

REV. NO’S & ITEM 15,25 REMOVED;2 J.G.

2

J.G.5/16-24 WAS 5/16-18;QTY 8 WAS 4;2

2

2

Plotted: APR 21,1995 4:09 PM


